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QUESTION 1

I was discussing my new service with a client who told me that my technical service contract revealed too much
information about the underlying service design. For example, based only on the names of my service capabilities, my
client could determine that the service was using an Oracle database. What service-orientation principle should I apply
to address this problem? Select the correct answer. 

A. Service Reusability 

B. Service Discoverability 

C. Service Autonomy 

D. Service Abstraction 

Correct Answer: D 

 

QUESTION 2

The composition member is the runtime role assumed by a service with a capability that is executing the parent
composition logic required to compose capabilities within other services. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Which of the following are goals of the Service Reusability design principle? Select the correct answer. 

A. To support the creation of services based upon agnostic service logic. 

B. To allow for service logic to be repeatedly leveraged over time so as to achieve an increasingly high return on the
initial investment of delivering the service. 

C. To increase organizational agility by enabling wide-scale service composition from service inventories that contains a
high percentage of reusable services. 

D. All of the above. 

Correct Answer: D 

 

QUESTION 4

Which of the following does not represent a typical form of service contract standardization addressed by the
Standardized Service Contract principle? Select the correct answer. 
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A. the standardization of a service\\'s functional expression 

B. the standardization of industry technologies across different service inventories 

C. the standardization of data models used by service contracts 

D. All of the above represent typical forms of standardization addressed by the Standardized Service Contract principle. 

Correct Answer: B 

 

QUESTION 5

Fill in the blank for the following definition for the Standardized Service Contract design principle: "Services within the
same __________________ are in compliance with the same contract design standards." Select the correct answer. 

A. service activity 

B. service inventory 

C. state 

D. message path 

Correct Answer: B 

 

QUESTION 6

To be considered an enterprise resource a service must be non-agnostic in nature. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 7

The following statement describes the relationship between the Service Reusability principle and which other design
principle? "Because of the potentially high performance and concurrent usage demands of reusable services, the extent
of control they can exercise over their underlying environment is an important design consideration in guaranteeing an
acceptable level of predictable runtime behavior." Select the correct answer. 

A. Standardized Service Contract 

B. Service Abstraction 

C. Service Autonomy 

D. Service Loose Coupling 

Correct Answer: C 
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QUESTION 8

Which of the following is not a benefit associated with silo-based application design? Select the correct answer. 

A. The emphasis on fulfilling tactical (short-term) business requirements allows for a more predictable application
delivery lifecycle. 

B. The analysis and design of applications are easier because strategic (long-term) business requirements don\\'t
usually need to be taken into account. 

C. The latest technology advancements can be leveraged by repeatedly building new applications from the ground up. 

D. Applications are always inherently built for repeated reuse across silos. 

Correct Answer: D 

 

QUESTION 9

A composition member is a service that participates in a service composition by being composed by another service.
Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 10

When applying the Service Loose Coupling principle __________________ coupling types are avoided in order to
__________________ the governance independence of the service. Select the correct answer. 

A. positive, minimize 

B. negative, minimize 

C. negative, maximize 

D. positive, maximize 

Correct Answer: C 

 

QUESTION 11

Which of the following is not a state deferral option that is commonly used in support of applying the Service
Statelessness principle? Select the correct answer. 

A. database 
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B. utility service 

C. messages 

D. service registry 

Correct Answer: D 

 

QUESTION 12

A(n) __________________ in the extent to which the Service Reusability principle is applied to a service can result in
a(n) __________________ in the potential for the service to be repeatedly composed. SELECT ALL THAT APPLY 

A. decrease, decrease 

B. increase, decrease 

C. decrease, increase 

D. increase, increase 

Correct Answer: AD 

 

QUESTION 13

Common problems associated with silo-based application design include: SELECT ALL THAT APPLY 

A. It can result in a significant amount of waste due to the fact that silo-based applications can have significant
redundant functionality. 

B. It can result in bloated, oversized technical environments. 

C. The integration effort required to make disparate silo-based applications interoperate can be complex and
expensive. 

D. IT operational costs can continue to escalate as more silo-based applications are added to an IT enterprise. 

Correct Answer: ABCD 

 

QUESTION 14

The Service Abstraction principle emphasizes the need to reveal as much of the underlying details of a service as
possible in order to support the Service Discoverability principle in its goal of maximizing the quantity of published
information about a service. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 15

The enforcement of service contract design standards is required to effectively apply the Standardized Service Contract
principle. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 
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